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2N o | omE  BeEmR ] F T
a—F g Fik | FERR (kg) %8 (F) sl | dE 2l PE (BAL)
Y3002 | =H (FH) 17 13, 867 1,566 486 216 BN 17kg
Y3011 | BANT (B) 1 216 432 432 432 BN lkg
31200 [LEE 2 389 43 43 43 BN 93
Y3014 KiR#E 173 22 22 22 1 BN 83
31700 F vy ‘60 4, 590 972 972 540 | BN 64— A
31950 H#AXE 3 1, 188 119 119 119 | BHN 107K
31900 Ra¥ 3 810 270 270 270 | B 3kg
34330 E7nd 90 17, 815 59 39 24| BN 449K
34100 #iJIK 20 7,020 70 70 70| BH 1004
34500 B —= 15 4, 860 324 324 324 | BN 15kg
36200 FEenE 115 11, 070 140 86 32BN 115kg
34930 LA v 44 8, 410 76 49 36| B 14674
35940 ARG 95 67,576 756 702 594 | BN 95kg
34800 < 5 23 15, 744 76 76 43 BN 228% > b
48000 F U 40 4,126 648 540 443 BN 81
Y4010 /NEFT W) 12 2,214 432 356 281 &M 61
49470 Ry iom T 20 14, 580 76 76 65| BP9 2001
71010 K% 14, 634 65 43 32| BN 3304
71011 A7 L —%§ 40, 176 59 54 221 B 9004
71030 R7&F 3,186 59 54 43 BN 6074
21032 FI®F (R) 3, 240 54 54 54 | BN 6074
71286 Zua—HnL 3, 240 65 65 22| BW 6548
30100 72V Z A L 50 5, 400 130 108 76 | JtimE 50K
30300 A% L 120 15, 228 1, 404 1, 404 1, 080 | REA 12— R
31100 B3 L 75 5, 832 1,296 1,080 1,080 £& 57 —A
33500 T X L 4 389 11 11 11 | t&f 364
33810 FHHEE 4, 396 119 119 119 |EIR S RYES
31700 ¥ 200 14, 364 864 756 648 | BEE 20— A
31800 1E D ANLAE 4 3,024 151 151 151 EERE 2048
31900 X M 10 3, 748 238 238 119 | EIRE 203K (500¢)
32800 125 5 2,430 59 59 38 | ‘Bl 5031
34300 o 2L 20 6, 480 2, 052 2, 052 1,188 {2 44—
34300 F2d 2L 10 2,592 1,296 1,296 1,296 | REA 27—
34400 R~k 24 6,373 1,080 1,080 1,026 | =& 64— A
34400 k= k M 12 5,184 1,728 1,728 1, 728 | K4y 3 —=
34400 k= b B 16 3,024 972 756 540 | FEIR & 47— A
34460 =L E & M 10 10, 886 227 227 227 IR 4878y 7
34100 HAJ 20 4, 644 86 65 65 FEIRE 654%
34100  #A/IK 2L 5 2,160 2,160 2,160 2,160 | FER 17 —2
34100 /I L 15 9,072 3, 024 3, 024 3,024 | =i 34—
34200 /I 20 4,752 2,376 2,376 2,376 BEIRE 24—




b4 HE  BROEmEE £H
a—F dh4 Stk | PERR (kg) %8 () = i FohlE PE i (BAL)
34200 FEJK B 28 1,739 76 76 RERE 28kg
34500 B —<w 1 6 5, 508 92 92 92| K%y 6045
34520 MbE—= > A L 2 1,728 1,728 1,728 1,728 I 1 —2A |
34571 T U B (GR) 2 864 86 86 86 | HE[E LO{&
34572 XTFUH (3) 2 788 86 86 11 |#&[E 10
36200 FEEE B 90 3,726 54 38 38 EIRE 90kg
36600 7mERE 2L 60 4, 860 1, 620 1,620 1,620 |#£%& 37—
37200 L x 9 A 2L 8 2, 808 1, 404 1, 404 1,404 | [H 24— A
33400 L& 6 1,836 1,836 1,836 1,836 | KB 17 —=
33400 L& A L 11 3,110 86 86 86 | K& 36{&
33600 /St Y 1 151 108 11 11 | & 54
38100 £ LWziF 10 5, 789 76 50 50 | B 10073y 7
Y3065 A — ho—1 L 42 9, 601 76 76 59 | K4y 1404
31310 A3 8 324 11 5 5 | 1& [ 4048
31500 /A3 16 5,184 65 65 65 | & ¥ 804%
32500 AE 2 648 43 43 22 | R 203K
37560 BRIE 1 2,106 324 270 216 | K45y 88y s
38400 xDEH 5 2, 160 2, 160 2, 160 2, 160 | &I 17 —2
Y4008 N R IBINA 4 5, 443 389 389 389 |fElR 14>z
42320 YaFId— R 10 6, 480 6, 480 6, 480 6, 480 | T 7% 17 —2
49100 /3 24 7,776 3, 888 3, 888 3,888 74 UL 24 —A
Y4007 F—LF %A 15 10, 368 3, 456 3, 456 3,456 | =2 —3— 34 —2R
AN
Y5006  #BIR (B4h) 90 21, 827 2, 560 2, 408 2,408 IR E 9 —2
Y5006  #BIR (44 70 15, 703 161 161 141 IR E 10073y 7
a3 1,702 469, 629
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